
Problema s«pt«m¥nii 86

O tabl« n×n este ��mp«rt�it« ��n p«tr«t�ele unitate. Dorim s« alegem c¥teva din aceste

p«tr«t�ele unitate astfel ��nc¥t s« nu existe dou« linii �si nici dou« coloane cu acela�si

num«r de p«tr«t�ele alese. �In c¥te moduri putem face aceast« alegere?

Problem of the week no. 86

An n× n is divided into unit squares. In how many ways can one choose some of

these unit squares such that the number of unit squares chosen from any two lines

and from any two columns is different?


